27 ILUATOX(GB)

AT Y VRAIFDFERZED TRO DIREUIE T,

JOY ABONBRFLEDHP. #HEIBENICHBAINTLET.
AYFDKSICHRORAD ENSEREBZEE DD TR,
RZORBDZDEDZLFEROETETEREICLET.
MR REENZHRETT .

Y1 70RUCKRESRFNDEBICEFARAXTY |

MR - Mzt - SEXICENET

FRED KL &GE

BERTY VA&
RUIVER - /hal - IV - Y k- DY v— ZOMKFERWLTTEE

MNZOIW OCw

AFVLR-7AVRX

w78 VY9 29Y1-+PAN W78 Yy 29Y2-+mM 7y — ATy b ®Fv b

BE Y4 =X BE Y4 X BE Y42 BE Y42 BE Y42
3GB+1DS3.5-13| M3.5%x13 | 3GB+2DS3.5-19 | M3.5%19 3GB013 3X8X0.5 3GB3312 M2 3GBCAPN33 M3
3GB+1DS4-10 | M4x10 | 3GB+2DS4-13 | M4x13 3GB014 4X10X0.8 3GB3313 M3 3GBCAPN34 M4
3GB+1DS4-13 | M4x13 | 3GB+2DS4-16 | M4x16 3GB015 5X12X0.8 3GB3314 M4 3GBCAPN35 M5
3GB+1DS4-16 | M4x16 | 3GB+2DS4-19 | M4x19 3GB016 6X13X1.0 3GB3315 M5 3GBCAPN36 M6
3GB+1DS4-19 | M4x19 | 3GB+2DS4-25 | M4 x25 3GB018 8X18X1.6 3GB3316 M6 3GBCAPN38 M8
3GB+1DS4-25 | M4x25 | 3GB+2DS4-30 | M4 x 30 3GB0110 10X22X1.6 3GB3318 M8 3GBCAPN310 M10
3GB+1DS4-30 | M4x30 | 3GB+2DS4-35 | M4x35 3GB0112 12X26X2.3| 3GB33110 M10 3GBCAPN312 M12
3GB+1DS4-35 | M4x35 | 3GB+2DS4-40 | M4 x40 3GB0116 17X32X2.5 | 3GB33112 M12
3GB+1DS4-40 | M4 x40 | 3GB+2DS4-45 | M4 x45 3GB33116 M16

3GB+1DS4-45 M4 x 45 3GB+2DS4-50 M4 x50
3GB+1DS4-50 M4 x50 3GB+2DS4-60 M4 x 60
3GB+1DS4-60 M4 % 60 3GB+2DS5-19 M5 x 19
3GB+1DS4-70 M4 %70 3GB+2DS5-25 M5 x 25
3GB+1DS5-13 M5x13 3GB+2DS5-30 M5 x 30
3GB+1DS5-16 M5 x 16 3GB+2DS5-35 M5 x 35
3GB+1DS5-19 M5x19 3GB+2DS5-40 M5 x40
3GB+1DS5-25 M5 x 25 3GB+2DS5-45 M5 x 45
3GB+1DS5-30 M5 x 30 3GB+2DS5-50 M5 x 50
3GB+1DS5-35 M5 x 35 3GB+2DS5-60 M5 % 60
3GB+1DS5-45 M5 x 45 3GB+2DS6-30 M6 % 30
3GB+1DS5-70 M5 %70 3GB+2DS6-40 M6 % 40
3GB+2DS6-45 M6 x 45
3GB+2DS6-50 M6 x50

KSIYPYITRFPERSEEICRIBENHDEYT

bl’-‘lu‘*hﬂuc_*jb
\ 03-3754-6228
Tﬁ ﬁn%iﬁ-c?ﬁt B 03-3755-2913

T146-0082 HEIEFABRH_E7-21-3 X< info@tomitarashi.com



JLADJDO02X (GB)

ATFvLRXR 78X
NARLEF ()

BE Y4 X BE Y4 X BE Y4 X BE Y4 X
3GB003-5 M3 x5 3GB006-8 M6 x 8 3GB008-10 M8x 10 3GB0010-15 M10x 15
3GB003-6 M3 x 6 3GB006-10 M6 x 10 3GB008-12 M8 x 12 3GB0010-16 M10x 16
3GB003-8 M3 x8 3GB006-12 M6 x 12 3GB008-14 M8 x 14 3GB0010-20 M10 x 20
3GB003-10 M3 x10 3GB006-14 M6 x 14 3GB008-15 M8 x 15 3GB0010-25 M10 x 25
3GB004-8 M4 x 8 3GB006-15 M6 x 15 3GB008-16 M&8x 16 3GB0010-30 M10 x 30
3GB004-18 M4 x 18 3GB006-16 M6 X 16 3GB008-20 M8 x 20 3GB0010-35 M10 x 35
3GB004-30 M4 x 30 3GB006-18 M6 x 18 3GB008-25 M8 x 25 3GB0010-40 M10 x 40
3GB004-35 M4 x 35 3GB006-20 M6 x 20 3GB008-30 M8 x 30 3GB0010-45 M10 x 45
3GB004-40 M4 x 40 3GB006-25 M6 x 25 3GB008-35 M8 x 35 3GB0010-50 M10 x50
3GB004-50 M4 x 50 3GB006-30 M6 x 30 3GB008-40 M8 x 40 3GB0010-55 M10 x 55
3GB004-60 M4 x 60 3GB006-35 M6 x 35 3GB008-45 M8 x 45 3GB0010-60 M10 x 60
3GB004-70 M4 x 70 3GB006-40 M6 x 40 3GB008-50 M8 x 50 3GB0010-65 M10 x 65
3GB005-8 M5 x 8 3GB006-45 M6 x 45 3GB008-55 M8 x 55 3GB0010-70 M10 x 70
3GB005-10 M5 x 10 3GB006-50 M6 x 50 3GB008&-60 M8 x 60 3GB0010-75 M10x 75
3GB005-12 M5 x 12 3GB006-55 M6 x 55 3GB008-65 M8 x 65 3GB0010-85 M10 x 85
3GB005-14 M5 x 14 3GB006-60 M6 x 60 3GB008-70 M8 x 70 3GB0010-90 M10 %90
3GB005-15 M5 x 15 3GB006-65 M6 x 65 3GB008-75 M8 x 75 3GB0010-100 | M10x100
3GB005-20 M5 x 20 3GB006-70 M6 x 70 3GB008-80 M8 x 80 3GB0012-20 M12 x 20
3GB005-25 M5 x 25 3GB006-75 M6 X 75 3GB008-85 M8 x 85 3GB0012-25 M12 x 25
3GB005-30 M5 x 30 3GB006-80 M6 x 80 3GB008-90 M8 % 90 3GB0012-30 M12 % 30
3GB005-35 M5 x 35 3GB006-85 M6 x 85 3GB008-100 M8 x 100 3GB0012-35 M12 x 35
3GB005-40 M5 x 40 3GB008-105 M8 x 105 3GB0012-40 M12 x40
3GB005-45 M5 x 45 3GB008-110 M8x110 3GB0012-45 M12 x 45
3GB005-50 M5 x 50 3GB008-115 M8 x 115 3GB0012-50 M12 x50
3GB005-60 M5 x 60 3GB008-120 M8 x 120 3GB0012-55 M12 x 55
3GB005-65 M5 x 65 3GB008-130 M8 x 130 3GB0012-60 M12 % 60
3GB005-70 M5 x 70 3GB0012-70 M12x 70

3GB0012-75 M12 x 75

KSTYPYIRPER<SEEICRIBENHDEYT

bﬁuﬁhtugsb
\ 03-3754-6228
Tﬁ ﬁn%iﬁ-c’ﬂt B 03-3755-2913

T146-0082 BREBABRtL7-21-3 X< info@tomitarashi.com



